goobbobbbodoooobobobboooooon

6.100
goooboooobobooobmoooobobooobooboboobobDooboonoobo
gogoooobooooon

oMmooooooo

oMoooboobon

o@oboboobooboboboobooobo
ggoobbooobooboooooooboooooboooobobbboooobboooobb oo
ggoobooobooooboobhbogogooboobooooobobbooooobobobbooooobobog
ggd

(A) 0DOO0O0ODOoDOobOOoO0OoOOobOoO0ODObOO0O0ODODO0oDOobOoOOoDOO

(B) 00O00OD00ODOOO0OO0O0OOODOOOODOOOOOOODOO

(C) O00OODoOooo
(A)OODe6-1) 0O CLUB,CLAPOODOO0ODOODOOOODOOODODOODOODOODOODOODOODOD
Jo0o0ooooDobmA)OO000D00DO0DOD0bO00O000OD0DO0oDOD0obO0obOoDOoDOoDOoDOg
0ooo0oooOoB0o0oboooo0oDooDobO0obo0Db0oo00oDO0bO0bOoOO0DOoDOOoDOoDOO
gogoobooooobooboooooonoobooobboooobooboooobooooobb b oo
ggoboooobooboooooobobooobobooboboooobbobobobboooobooon
Joo0oooobDobOoboooDooDoOoc)Ob0b0booo0ooooDO0oDOD0obooooDooDOoDo
00000000000 0000000000000000000000000000000 0 #2200
00o00o0obo0 bOODOOOO0O0ODOODOOODOODOO0ODOODOODOO0ODODOODOODOOODOOd
ggoobbboooooboboooon
gebs500045° JDDUODUOODOODODODDODOODUOODUOODDUODODOIDODODDODDOO
ggooboooboooouooooobooooobobboooobbobboooobobbobobog
ggooboobobooooobobuooooobobooooooobboooobobobbooooboooD
ggooboobooooobobuooooobboooooobobbooooobobbuoooobo

-89 -



62000 000000ODbDOO0Od
doo0e3)dd0300000D00000O0DOOD0DOODOODODODHODOODODDODODOODOOO
ooodoooo3soooooooooooooooon QFDDDDDDDDDDDDDDDDDDD
DDDDDDDDDpMpDD 610000
M,=Q,-d,
DDDDdbDDDDDDDDDD[I[II:IDDDDDDDDDDPMFDDDDDDDDDDDDDDDD
goddoooooooooomoooooooooooooobodooddoooooooooon
0doodoooooooooooooooooooooooonD 6100

U

o

[

QT T

o

IR

OooOoOoOoo0oooogoogo

DDDDDDDDDDDD,DC-tp
oooobOoo0oobOoboooooboRHOobOoOoOoOg
0000000000000 o0oo0ooDHOOOoDOooOoOo
0000 HODOODODODOOD
goooboobooboobogoog
ggooboooooboobboooobbbooooon
A/ZDDDDDDDDDDDDDEDdCtp HOOODOODOODO
goboobooboobooboobobbooboobobobobooboon

ggooooo

gogobobooooooobooooobooo

(6.1)

DEIDDDDDDDDDDDDDDDDDDDDDDDDDDDDDpMyD[IDDDDDDDDDD
gooon KDDDDDDDDDDDDDDDDpMpDIZIDDEIDD

M, =L (6.2)
0el100000000D0O00 M ODOOM@MOE-3) 000
0o0oooooooo
oooo V. oooo
pMp n
F A /
M, =V, n<1-2e 11<d,/t,<50
3 A Voed i 0.6<t,/t;<18
HOOO s i ) e=Gelolp 0.7<dyd,<1.7
M =V67y\/1-1(n-1)é+1\ 1-2rcn<t 0<n<0.7
»= Y3 \ A, A
Fy
,,Mp=Veﬁ n<05 10<d/t,<42
DOODDDDD V.=2d.d,t, 1.0<dy/d <16
M=V, =2\n(1-n] 05<n<1 0<n<0.6
10<d/t,<42
oooo
45° 00 ,,Mp—Vefg 1-n® V,=2{(v2d,-2r,(v2-1)}d,t, | 1.0<d/d <16
0<n<0.6
21<d/t, <42
F,
ooog ﬁMp=Vef§A/71_nz V,=2d,d,¢t, 1.2<d,/d, <16
0<n<05

-90 -




S
'

e |

N

|

V2d.—2r, (VZ-1)

Oel1000000O00ODO

bbbk ddbboobbooboboogoboooboooobboobboobbuoobboobobag
gogooboobboooouobobbooooboobood

K=3@+BJ§Z%{ZZQ OHOOOO (6.3)
Kk=9/8=1.125 000000 000 (6.4)
k=3/2=15 00000 45° 000 (6.5)
Kk=4/7=1273 0oooOoo (6.6)

O000HOODODODODOODODODOOODOD HODODOODODOOO k=1.1520 1274000000
011810000

6300000
6.3.10000000000DbO0OO
goooboooboobobboobooboobooo

M/ M, <10 (6.7
DDDDpMyEIDDDDDDDDDDDDDDDDDDDDDDPMDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDI:IDDDDDDDDDDDDDDDDDDPMDDDDDDDDDDD
goooobobooooboobooboobooboobooboobobboobooboobooboobo
googon

632000000000000000000000000000
0000000000000000 6200000 620000000000000 63000000
oooooooooooo 0,,0,,0,,0,0000000000000000 630000000
00000 000000000000,,0,0000000000000000000000,,0,,0
00000000000000000000000
0000D0000000000000000000 MO,M000000000,M00610000
000000000000000G),(00000000000000
()000000000000000000000000000000000000
00000000000000000,M0 (216),(218)00000000000000

M= M+ My (Qu+.Q) % 6.9

bL?

-91-



A Al,
]VUl \
/\cMU J
cQU e ‘O
_— | [YeU .
i M, M1
/ ‘O e "L
L @ PR oy
oMy, bQLl TbQR) »Mp dy, < — 0 ? T o - -
bI ! ¥ M -
e e "R
-~ o8 H M
CQL \ ch CIﬁ’/
CML)\/ -« ‘
TNL T lpr 5‘\,
< > I
d, — cMUJ My,
My M
Oe2000000O000OO0OOOO Oe300000O0ODODOOOOOOOOOO

(hDooOoooOooOOooOoooOoDbOooOo
ggooboobooboooooobboooooobboooooobbbbbooooobboobobog
gooooobbOoOoooOoOooboOoo MOMO220000000000000000000000
DDDDDD[ICMDI)MDDDDDDDDDPMD (221)0(2.26) OODODOODOODODO

. d d
MU=MU—‘3QUTI’DEDML=ML—CQ§ : (6.9), (6.10)
. d s d
bML=bML—"Q§ 0 mbMR=bMR—”Qg4 (6.11), (6.12)
pM:bMZ+bM;_(bQL+bQR) %—(CQU"'CQL)% (6.13)

6400000

6.410000000000000
gbooobooobooboobooboobooboobobboboooboobo
gooooooobooo

gooobooobooboog

odoooooooo e4 00000000 DOOOU0DOOOUOODOOOODOOOUODOOOO
0d00o0o0o00oOo0o0oU0ooOo00pooOo00DoO0o00oDoOOoO0oDOOD 12000000000
0d000o000oOo0o0oU0oooO0O0DooOoOO0D 1120000000000 O0OOOO0O0ODOOO
oooobooboo0mooobo0ooHOODODODODbDOOO 000D 0ODOODODOODODbOODO
gooobooboobobboobooboboboobooboobobooboobUoobooo
goooboboboobooboboobooboboobooboobobbobDooboobooboo
gboooboobooboooobooboobuoobobboboooboobon
goooogboobooooboobooboobooboboobooboboboobOoboboboboo
gbooobooboobgobooobooboobooboboobooboobon

-92-



6420 0000000000

(H)OoOoOoOoD0O0O000
0000000000000000000000000000000000000000000000

ooooooobod23000d0ooooooobooooooooobooooooboooooooon
ooooooooooooo M, 'OM . ")OM "OM "OM ' O00000000000O0O0
¢ pU —¢ pL —b " pL —b "pR —p T p
CMpU*+CMpL*DD O bMpL*+bMpR"DD O pMp'*

ooooooooooooooboomuooDooooob oo oo o0oooooobood 6.4
JoodoDooDoooooooooooooooooo M, 'OM "OM "OM "OM 000000

¢ pU —¢ " pL b pL b " pR p D
gooooooooooooooooooooon

: Qud : Q.d

J@w=ﬂga+ﬁ%fimimﬂamzﬂuy+Q; & (6.14), (6.15)
* dc * dc

bMpL:bMpwa# 000 Mg =M ,p + ng (6.16), (6.17)
. d, d,

pMp=pMp+?(bQL+bQR)+7(cQU+cQL) (6.18)

DDDD]DDDDDD[ID[ICMpDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000000b00D00DO000 b0 UooDOoboUooOooDOooOooooDbooO

gooobooobooobooobooobbo™WooooobobooooooobUooob o
D[I]]DDDDDDDDDDDCMpUDCMpLDDEIDDDDDDDDDDDDDDDDDDDDDDDDD
gooobooooboboooboobobooboomobobooboboooboobooboobo
Jooo0oooooooDoooDO0ob0obO0oooo0D L@ obooooooooDooDOooDoooDo

gogoobobbooooobooooo

r==n
-

3 M, v

: PP CMPU : HU
I oMpr \¥17db s
. I Ly

E T eMpr

My |d, H;
x A

LL LR

0640 00000000O0ODODOODLDOODOO

(000000000000
0(6.14),(6.15 0 00000000000000MO0000000O0O00O000O0O0OOO00O0O0

goooboobooobooooboobooooboobooboobobooboobooboboboo

goooogooo
U gobooooboboboboboooobobmoooboboboboboooboobo

goooboooboobgon
oooooOobooooobooooboboooooboUobOOobDOobOoUoDOobUoOoog 650000

-93 -



chT

- .
_ AI bT | L
<} ‘ M M *
! b p P67 pR
chT H — ; =1 ijdb
Myp VZ* bMpL*i* ‘,ALZW/ ‘
,7,7,,1%3 > PP [
] ch ch
J
chB‘
Oeb00000O0O00O0OOOO ODe600000O0O0O0OOOO

gooobooobobooboobooboobooboboobooboboboobDooboobono
goooboobooboboobooboobobooboobo

1_1( MPB)
. 2H
LMpT=

de - decjwi
pT

_dyrt+dy

2H
godooooobooooooooboodooooooouoooooboouoonoon
1

M (6.19)
1

1-x~1 (6.20)
06.190000000000000000
. 1
M, = M (6.21)
pT 1_ de(1+ chB) PT
2H chT
00000000000
£ 1
Mg = - de(1+ Mﬂ) Mg (6.22)
2H MpB
M,=M, =M, 000000000000
Myp=—L— M, omMyu=—L1— M, (6.23), (6.24)
1 - =2or 1 - 2B
H H
000 M, 0 M, 0000000000000000000000000
Aﬁ:JW%:J@£=4—EiiafwM} 00 (6.25)
1— bTZHbB

d,=d,0000000000000000000D000000000D (2582000000000
00e.22),(6.23) 00 00000000000O0OOO0O0ODODOOO0OODOODOOODODOOOOO
OO000oOo0oO0O0oooOoOooooOooooo G)yoooogoo

(3000000000000
0000000000000000000
0 0000000000000000000000MO000000000000000000
0000000000000
0000000000000 00000000000O0000000000O000O00000000
00000000000000000000 @,0000006.60000000000000000

-94 -



ggooboboooooooo

My =—L— M, -QomMy=—1— M,+Q (6.26), (6.27)
1-— cL 1-— cR

L L
ggoobooobooooboooboobooooooobboooobbooobboooooobobog
gogoobobobooogoooog

M;L=#LbMpLDmM;R=#RMpR (6.28), (6.29)
l—L l—L
godoo0oOoooooooocooooooooon
M= My = My =———— M, (6.30)
1-— cL2LcR

@Looooboooobooo
oooO0O0O0O000000000000O (1) D0OOOOODODOOOOO0OOOOODODOODOm
gooobooboobgoobooo
gboooboobooboboobooboooo

U goboobgoobooboobooboobooboobooboobboobooboo

goooboobooboobooboobooboobobbobooboobo

U gogbooboboobooboobobooon

gbooobgoooobm 6.4D|]DDDDDDDDDDDDDDDDDDDDpMp*DDDDDDDD

. 2

Mo=—rg—a —a, a1 ™M» (6.31)
2— LL+LR+H—U+E

000000000000 0000000D0000000000000000000000000 6.7,

68,6900 000000000000000000D000D0OO00DO0OOODOONDOOOOD

gboooboooboobobooboob

00000000@,M,=—5g7—27—",M, (6.32)
_ c 4 b o b
2= (T i)
oooooooom,M,= 7 % 577 My (6.33)
_ c c b
2- (g o )
00000000mM,M,=— 23— M, (6.34)
mER
LL L
ST o
E PMP chU HU M
r bMpL oy r i p\*[j r=a r bMpL
i Mpr vMpr v
Mpr, H, Mpr, H, M, M, H,
| | IL JI | | ;
I ] I I | I >
L; L, Ly Ly
0670000000000 0680000000000 0690000000000
ooooo ooooo ooooo

-95-



oooobooboooooboboooooboooobobooobobOobOb0 el0OODODODOODO
ob0ell00d0O0ODbO0OOODOOODODOOOUOODOOOODOLODOODODOOOODO
goboooboobooboooboobuooboobobo yobbooboob eOOO0ODbDOODOO
goo

1 de) _ 1
1+h_i 2)9_7|:||:|->D|:|7/— dne (635)
2 "2 1--=

L
DDDDDGbRDDDDDDDDODDDDDDDDDDDD

( d./Ly d,/L, )
bR = - 0
1-d/L, 1-d,/L,

(6.36)

DEIDI:IDElDDElD[II]EIDDEIEI[IDEIDDDI]DDDDDDDDDDDDPM;DDDDDDD
goodb0 ell0000D0ODOOODO0ODODODDOODOO

2 2
DDDDpMpl:l[ll]DDDDDDDDDDbMpREI[II]DDD[II]DI]DI:IDI:II:IDI:(G.37)EI[I(6.35),

(6.36)0000000DO0OODOODOODOOO

. 1 d./Ly d,/L, 1
M = M+ £ - £
AT d.__2d, " (1—dC/LR 1-d/L,),__2d,

L, H,+H, H,+H, 1_&

L,
(6.38)DDDDDDDDDDDDDDDDDDDPM;(DD)DDDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDPM;(DQD)DDDDDDDDD 6.120000d, =60 cm, L, =600cm,
H,=H,=400cm 0000000 d,/d, ,M,,/ M, L,/L, 0000,M,,/ M =1.000000000
dddoOooOo0000oboOoObO0od0D 62000000000 ODOO0O00O0DDOODOOOoOooOoOoOO
00000@Oe.38) 000000 ooOoOoOoOoDOOOoDOOOoDOOg .3 OOooDOoOoOoDOOOd
DDDDDDPMP*(DDD)DDDDDDDD 613 000000000000003% 000001M06.31)

gboooboooboobooboobooboon

o yd
pMp (yb) =pMp y+ bMpR ebR (6-37)

WM, (6.38)

—_— _
HU
d, 2
A d, JAN
\ L, Ly |
2 2
H,
2
At
0610000000 06110000000

-96 -



0.1

LA L B L B B B

r * o pehs E‘

- M2R) ——d,/d =10, M, | M=05
008 A( L) o

: pr d /d =15, M /M—0.5
0.06 -

| ——*r—d /d 20,beR/M =05
004" |4 ld=10, M M0

r ////'// -------- d /d =15, M /M 1.0
0.02f /' — L, PR

7 L, |-—d/d=20,M / M 1.0

0 | ‘ ‘

1 15 2 25 3
0 6.120(6.38)00000000000

11

———T T
MR 7
1.05 , pMp(J:ﬁ) E 7db/dc=1.0, bIWpR/pIszo'E)
! o d,/d =15, M | M=05
*'*"db/dc=2.0, b]llpR/lelpzo.5
I d/d=1.0, M _/ M=1.0
r ] b ¢ b pR p p
0.95 - | - d/d=15 M |/ M=1.0
r ] b ¢ b pR p p
Lo | |-md,/d =20, M | M =10

0_97””\””\””\”
1 1.5 2 2.5 3

06.130631) 000000389 0000000

oboden40bU0b00ODODOOOODOOOOOODODOOOUODODOOUULODbOODO
DDDDDDDDDDDDDDDpMp*DDDDDDDDD

d oM, (1-oM,)\ d,(BM, (1-BM,

S T T R T (69
2 2 2 2
gooooooobooo
M, = M, (6.40)
ptp T .
AN (T N, Ly
Ly | H, | J

(640) DO00ODODOODOODOODOUODODODOOODOODOODODOOOOOOOOO OO
ooooooooooobooooooooL,>L,,H, >H, 00000000000, 0000000
(6.40)D[|pMp"D[IDDDDDD[II]DD[IDDDDDDDDDDDDDDDDDDDDDDDDD
ggooboooboooooobbooohooooobboobobboooobbobbooooobobog
00000O0oO0o0ooOob0ooDoDnoooDOoe3nooooDooDon 64000 a==1/200
0000000000 1300000000000 615000000000005%00000 06.31)
ggoobobboooooobboooooobooo
00o00o00oo0b0obOo0oDooOobO0oboo0o0ooDOoDoDoboooO e3VOOoOoDOooDODO
gd

.97 -



ocpM; H,
2
db (1_ﬁ)pMp
é ﬁpM; dc A
(1-a),M,
L, L, |
2 2
H,
2
Aii

11

M () || dd=10, M'=23 M °

T —— 1 ¢ p P p.

1.05 | £,(T ) .memagmzizE | d/d=15 M'=2/3M °
[ ol ] b ¢ P D b pR

""'db/dc=2.0, pl\lp =2/3bZWpR

—d /d=10, M'=M
b c p

L 1 P ) pR
0.95 - L ; d,/d =15, pMp =bMpR
0.9 : PR RS R A ‘IJ‘R‘ ] db/dC:z.O’ PZWP =b]WPR

0 6.1506.31) 0000006400 0000000

G DoobOobOooboobooboboobooboob
ggobooboogooooobbidmooobobodmooobobooouooobooboog
ggooooobboooooboobbodoooooooobooboooooooobnbobbooooobobobo
0000o0oboo0ny,iy00ob0o0oo0oD0ooooooooo
hoooooDoooooOobhoooooOoomoboooooooooooooo
() J0O0DOO0O0ODOODOODODODODOODOODOODOODOOODOODOODOOOODOODOODOO
ggooboobooooobobbuoooonboo
(b 0O0DODDO0O0ODODOOOO0ODODODODOO00ODODDOOO0ODODOOOO0DODODODO0O0ODODOOO0ODDOO
ggoobobobooooobobooooboobobboooobobbooogon
(o OODODOOODOD OODODDODODODOOODODODODODOODOOODODDODOODOO
ggooobooogoooo
(00000000 DO00DO0DO0DODO0DOO0DbOO00DOOO00000DO0ODLOO0bODODOODbO
ggoobbobooooobobobboooooboboobooooo

-98-



(e DOO0ODOOUOODOOOODCOOUOODOOOODOOUOODOCOOODODOOOODOO
goooboobobooboboobobobo™@ooboobobbooboobobon
Uooomobobbooboobooboboooboobommooboooboobobgon
gooobooobooboobooboo

ndooooooobooooboobooooobooog

() DOO0ODOCOOUOODCOOOODOOOODOOUOODOOOODOOOOODOOOO

() OOODOO0OODODOCOOO0DMODOCOOO0O0OODDOOOOOOUOOODOOOO
gooobooobooboobooboo

(o OOODODOOODODOCOOOUOOODOCOOOOOOODOOOOOOOODODOOO
googon

iyoooooooodooooooooOdoooooooogooogoooOooooooooDooog
gooobooboobobobooboooboboboboobobbobooboobobboboo
oooo0oo0o000o0o000ooWwooo0o0o0o00o000oo0ooo0oooooooooooo
odooooood0m@mibOoodooooooooooooooo0ooooooooogoo
gooobooobooboog

O0el6e 000 HOOODODOD HOOUODODODOOOODODODODODODOOODUODODOODOOOUODO
00000O000ooOoOooooOo e dBROODODODDODOODOODOOOODOOOODOOOOO
0HOOOODOOOOODOOOOOooOOobobOoooOobooogoo el70OOO0b0ODObOOODO
00000O0000OC0O00dUbe 00000000 DOOOO0ODODOODOOOODOOOODOOO b,
i)dd00d0oO0O0ODOCOOUOODOOUOUODOOOOUODOOUODOODOODOOUODOODOODODOO
ooooboooobooo0bdob0dbOboooobooooboU obhbUObObbOODO
Odo0Oo0o0O0oooOoO0ooooooooOoobDooo0o o, WOOOO0ODOOO0O0ODOOOOon
gooooooobooo

} 3750

"

§ 3750
4 4000

-_12000_éodﬁ12000"
- > > >
30000
BO O (0 0 mm)

O 61600000

-99.



—e—0Ooooon

—Oo— Qoo

—<—-—-000 i)

"""" o---0000000000
00oooooooo
00o0O00oo0ooo0

d

Oooo

C1 C2 C3 C4

N(ton)

N(ton) N(ton) N(ton)
0 L L L L L 1 0 L L L L i 3 0 L L L i 3 0 L L L
-50 0 50 100150200250 -50 0 50 100150200250 -50 O 50 100150200250 -50 O 50 100 150200 250
rd rOd rd rd
ol el of “ 2] S, 3] f ,} C4
6 6 6 6
4 4 4 4
2| N2 N2 . on 2 N
Il Il Il (ton) Il Il Il (ton) Il Il Il (ton) Il Il Il (ton)

0
-200 0 200 400 600 -200 O 200 400 600 -200 O 200 400 600 -200 O 200 400 600

0e6170000000000D0OO0DLODOODbDOODOD

(00000000000
000000000000000000000000000000000000000

(A 00000000000000C0C000000000000000000000

() 00000000 DOOOOOOOOOOO0O0O0O00O0OO0

(C) 0000000000000000O0O0O0O0000000
(ADDD000000000000000000000000000000000000000000
00000000000000000000000000000000@®),(C)0000000000

(8000000000000 OOOOOODDO0O00000O0
0000000000000000000000000000000000000000000000
000000000000000000000000
1] 000000000000000000000000000000000000000000
2] 000000000000 00000000000000000000000000000
00000000000000000000000000000000@MO00000000
0000000000000
0000000000000000000000000000000 My, M,.0M,, M, 000
000000000000 61800 M

My= My, My= M, (6.41), (6.42)

oMo =M, , M= bMI;R (6.43), (6.44)

- 100 -



0000000000000000000000000M,,,,M,, 000000000

00000m M, =

*

oM i

00000mM,, =,M,
061900000000000000000000006.32(G)0069000080000000
0000619000000 619000000000000000000000000000000
000000000000000000000000000000000000000000000
0D000000000000000000000000000000 619000000000000
0000000000000 @MO0000000000000000000000000000000

goooogooo

—_
bMpL+bMpR

— M, 0 M Mg =

bMpL+bM;R pMp

(6.45), (6.46)

(6.47)

Doooo " Doooo :
g M Ny E, o | Hy
MpL \I"I —+dy oy oMo ° v
-; o - | M
i chL d H, e pL : H,
M s Ly S N R SR 2
| i i - - ]
L, Ly Ly Ly
0618000000000 O00OO0OOOOOOOOOOOOOOO
500 [Q; (ton) 500 (@ (ton)
{3750 s BR-08(H-H)
5T 400 F 400 | =
o I (0oooooooo
" 300 [ ooooooon ] 300 ]
g 2000 T/ 200 | 1
| 1] 1 4 4000 ‘
120006000 12000 100 1 100 | (PBR-(I)S(H-H)d) 1
30000 i | | | 6 (cm) e lgnfre 3, (em)
BOOD  @0mm) % 2 4 6 8 10 % 2 4 6 10
0619000000000000O000O00O03

- 101 -



(000000000000 00000000000000
0000000000000000000000000%0000000000000000000
0000000000000000000000000000000000000000000000
00000000000000000 (6.19)0 (6.23) 0000000000 DO0OODOOOO
M +M DO00000000000 M, +M D0000000000000 M 000000
000000000000 0000000000000000000000000000000000
000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000
0ooo

00 6210000000000000000000000 620000000000HO0000O0OO
0000000 HOODOOO HOOOOOOOOOOOOOOOOOOO0O00000000 650
RODOOOOOOODOOODHOOOODOOOODOO0OO000000000000000 HOO
0000000000000006210000000000 Q0000000 Sw, 0000000
ROODODODOMOOOOODOONMONNONDNODNOONOONN0NDNOONNODN0ONoONoO
0000000000000000000000000000000000000000c 00000
000000000000000000000000000000000000000000000
0000000s00000000000000000000000000000000000000
000 0020000000000000000000000 6220000000000000000
000000000000000000000000000000000000
000000000 HOODOOOOODOOOOO00000000000000000000000
0000000000000000000000000000000000000000000000
00000000000 6220000000000000000000000000000000OH
00000 HOOODOODOOOOOOOOO0O000000000000000000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000
000000000000 0000000000000000HOOOOOO000000000000
0ooo

O

-102 -



3750

3750

)

¥ 4000

12000 6000 12000

30000
BO

>

6000

000

24000
A0 O

6

(O O mm)

O

0e62000000

ooo

ood

ooo

ooo

0.6

0.4

0.2

ooo

060

060

0.4

0.2

O

od

0.4 060

0.2

060

ooo

0.4 060

0.2

060

O 0O0O0O0oOo

gobooooboooooooooooo

goooooobooooboooooog =

0 e621000000000000O

gboooooooooooooono

oooooo

0e22000000

-103 -



6.4045° DO0OOOO0OOO0ODOOOO
obe23l0000000D0ODOOO0ODIODOODOUOOODODOODUODODOOOUODODOO
o0 XOooooo yoboooooooooooboooobooooobooooboooooo
goobobooobobooboobuobobobooobobobob e24000b0O0DbObDbDODOO
0oobo0obOooo0obouobOobOg e25, 6260000000000 0O0DODO0ODODODDOODOO
00000O0bO00D00DO000ooooDoobD0DbO00DooXYOoooooooboooooo
gooboboboobobobooboobooboobooboon A@m[][]D gooooo D[]]W;n[
gooobooboooboboobooobobobobooboobobbooobboboobOon
oooobooboboooboobOor=040000000000000DODOODOODODODOODO
ooo0oobobobooobuobobobobobob e2500000000O0OD0O0ODOO0ODOODOODO 45°
ooboooooboobdn=04000000000000000000O0R=04000000 n
=0.0000000000000DO0O0DOOODODO0ODOD0O0ODO0ODbDUOD4 DODOODbODDOO
goooboobooboobobooboooobobooboobooboboobobobboboo
oooobOobooooooboobb ee23000b00b0ObOO0ODODbDOOOODODObODODOODO
goon

g_‘Y
—
| L ¥

1 D O
T 0
oo
1 1 ™ r g <&
I:_I LT LI L:l >_‘ o 0
[ (—1 ]
dC
4 R N X 00 :¢
0O 00
0623000000000 062400000
12 _MY / Man T T T
] n=0.8
n=0.|6
] n=0.4
, My M, M/ M,
0 1 1 I I i ] 0ttt b b
0 0.2 0.4 0.6 0‘8 1 1‘2 0 0.2 0.4 0.6 0.8 1 1.2
06.25000000M,0000) 0626000000M, 00000

-104 -



6.4.100000

045 JO0ODOO0OO0ODOODOOOOODOOOODODOOOOODOOOODODDOe DODODOODO
obooobo0oooboobooboobob e240b000U0DODOUDOODUODODOODOODOODO
ooboobobbob MoooOODOODOOD M ODOODODODOODOODODODOODO M,
obooboobo M 0O0DDOODOOODODOOD M DOODOODOODODO M DOO00O0
obbOrO00D0O00D0DOODO45° DDOOUODODOOFODDOODODOOOODOOOO

oQd

45° 00O

ooooooo d’tF,

00ooo0ooon M,,=v2d’tF,

gboooooobooon

22 ;2 _
00O0Oo00O00o 3 de tF,(1-np)

L"M_}'I’LD =

2 3 2 +
0000000000 dectFy(Z n?  n<05 Ok _ 2 o
M, = M,p=V2 d tF,(1-np
0000000000 \zdgtpyu_n) n> 0.5 O
odQon
0° 0O 45° 00O
16 F, __8 F,
00o00oooooo M, =15q q,¢t =2 M,=—S—d,d,t, -~
Tty 9 c%b p\/g p* yD 3\/5 b P@
F,
Ichdbtpfg (n<0.5) F
goooooooooo |M,= o pMpD=2ﬁdcdbtpf§\/1_nD2
\2dcdbtpf§2 n(l-n) (0.5<n<1)

0000000046 OO0 O° DOOOODODODOOOO

cMynD_x/g(l_nD); (1—711))

M, =5 i-n) T0.707W (6.48)
V2 (1-np?

M pup /3(—4:5) (n<03)

chn - @(l—nnz) (I’L>O5) (649)

2(1-n) ’

pMy 4

M, /@«/1—121)2 (n<0.5)

r_pl (6.51)

M V2 y1-ny® (05<n<1)
2/n(1-n) ' B

Oo0000d0ORe=n, 0000000000 45° 0000000000000 OOOOOOOOO
00000000000 62700000 2=, 000000 (6.49),(6.561)000000000 45°
o0o0ooboobo0obooboboog 4Y%O00b000o0oboooobo0ooooboboboooo
o00o0o0O0ob0o0ooOOobOob0oOD 4 DOO0OOO0ODbOoOOUOOOODbDOOOODObODbOODO
O0000O0obOo0oOg4s DOOOODOobooo

-105 -



chnD /C'Mpn PMP"D‘/I‘VMP"" ‘

157 s 15—
f ] :

| B E

05" ] 0.5 - 1
i b ] § 000
0:\\\‘\\\‘\\\‘\\\‘\\\En 0:““\\\‘\\\\\\\\\\\:’1
0 02 04 06 08 1 0 02 04 06 08 1

0e2uonoooMOoObDDOn

6.420000000000000000
(Hooooo
045° 00000000 00000000000000C0C00000000000000000 45°
0000000000000000000000000000000000000000000000
0000 X0OO0YODODOOOOOOOO0O0O0O0OO0O0O0000000000000000000000
000 6280000000000000000000000000000000000000000
000X Y OO0OOO0OX00O0OYOOOOOOOOON,00000000000N, 0000000
00000000000 U,L000000000000000000045° 00000000000
000000000000000000000

0 000045 00000000D0000000X,Y 00000000001/y2 00000

0045° 000000000000 O0O000

0 000000000000000000000000000000000000
0D000000045° 000000000000000000000000000000000000
00 DO 45° 000000000000

A

| )
i

D
»i’b

5

A

°~Q.

“leRX>bMRX? |dy =M LYQQLY

0e280 00000000 0ODDOODOODO

-106 -



oQd

INW (Fp4E) INM (FRHE)
Nyp = Nw+§gy (#fFE) | Nyp= N@+T%Y (fIFE)  (6.52),(6.53)
N.ox+N X N x+N, \
\NWW (RkE) N1L+$ (R RE)
_ 1 (Mux , My _ Moux+ Myy
My =L (Ho, o) Mot (6.54)
1 (Mix My _ Mix+ M
Jmm—7§(~é?+ Jgj— LA S (6.55)
_1 (Qux  Quy|_ Lux+.Q
ﬁw—Jg(é§+Jgj— G (6.56)
_1(Q Ly - Q +Q
Q=75 ( 75t ) LA o ELY (6.57)
oQO0O0O
INW;ML (FE)
N N Ns Ns a
pND=\ w2 Ny lzjgly (B (6.58)
N,,;+N Nax+ Ny + Ngx + Ny 3
Wz iy 575 (BEAE)
pQCD= % (p%X + p%Y) — chX;chY (6.59)
Mp=,Qcpd, (6.60)

o[
O00000O045° 000000000000 O0O0O0000O000000000000ooooooOn
oool/vy2 ooooo

(0000000000
045° 00000000 0000O0O00O00OOOO000000000001/Vv2 000000000
0000000000000000000000C0000000000000000000045° O
00000000000000045° 000000000000000000000000

My< M, (6.61)
45° 00000000000000 M, 0 (660 000X, YOOOOOOOOOOO00000O
000000000 MO000000000045° 0000000000000000000000
0000000000000000000000000000000045° 00000000000
0000000O000045° 00000000000000000001/Y2 0000000000
0000000000 0000000000000000MA® 00000000000000000
ooooo

My< M, (6.62)
0000M,0 6.54), (655 000000045° 0000000000000000 0 6.48),(6.54),
(655 00000000000

(ﬂ? ﬁ?) 5 (1=np) (6.63)

gobooboooobooboooboobooboboobobooboobooboboobmoboobooo

-107 -



gobooboooboobgoobooooboo

I 2 L3
%(JJ‘# %y) <¥2(1_p,)< g (1-Max. [ny, ny])  (HAE) (6.64)
g(l—nx—ny) (B %)

0000R,, n, 0 X, YOOOOOOOOOOODOOOOODODOOODOODOOODO6.55) 0(6.60)
ggoobobbooooboboooooobbooooobooboog
goooboooboobooooboo

g oo00oobOo00o0bDO0bO0OO0oDO0bo0oOgDn4ss DOODOoDOOobOoOoooDbOobo
000 0OU0bO00O0O0bOobOOo0obOOobOobOOoUObDObO4s DOODbOoOOODbDObDOoOobDO
g 000000000000 0D00D00000000bO000DO00O (6.60)J0OD0ODOODO D45

0000000000000 0000bOO0bOO0bO0OOe48) 065 OODODOODO
gogobobooooooobooooobooo

64300 0000000000000O0

00000000 000oo0ooooooooon 46 00000000000 O0OOOO0ODOOO0O

0629045 JU0O0OOODDODOOOOOOODOODOOOOOODOOOOOOOOODODODODOOOO

gbodooobooooodoboooooooobooooooooooobooboooooooao
@{bMLX;MRX+bMLY'£bMRY+%(bQLX;bQRX+ bQLY;bQRY}

d
0 =cMUD+cMLD+?b(cQUD+cQLD) (6.65)
ooooooooooooooooad
pMD:@(bMLX;‘bMRX_'_bMLY;bMRY)_%(CQU+CQL)

(6.66)

(6.65),(6.66) 000 0O0OOOOOO
CM;JD+0MZD=bM2XD+bM;‘XD+bMZYD+bM;YD=pM;) (6.67)
Mup=Myp+ Qup 71’ OmoOMp=Mpp+ CQLD - (6.68),(6.69)

Mixp =42 (bMLX +,Qrx 5 95 ) 00 0Mep=v2 (bMRX + @ rx ) (6.70),(6.71)

M pyp =2 (bMLY +,Qry o 9 ) 00 Mpyp=v2 (bMRY +,Qry (6.72),(6.73)

0 6.29045° DODOOOOOODODOO

-108 -



v2.d
My= M, + ( Qup + Qup) + . c ( bQLx ; bQRX+ bQ@Ly ; bQRY) (6.74)

(6.68)0(6.74) 00 0D0CO00ODOOO0O4S JODOOOUO0ODOUOUODODOOOUODODODOODODOO
goooboobobooobobooobooboboooboobo0o e30b00bUobDbobobOobDbO
gogoobbobooooobboboooooboboooonon

M op =M ,up + RQup fb 0moMyp=M,p+ Qrp jb (6.75),(6.76)
" d ¥ d
oM ,1xp = V2 (bMpLX + @ 1x jc) 000 sM prxp = V2 (bMpRX + 3@ prx 56) (6.77),(6.78)

oM pryp = V2 (bMpLY + @1y 50) 0 O oM pryp = V2 (bMpRY +,Qry 75) (6.79),(6.80)

pM =M, + ( Qup + Q) + 22dc ( »@rx ; bQRX+ 2@ Ly ; bQRY) (6.81)

(6.75)0 (6.8 0 0000DO00ODOODOODOOODODOODOOODO 63220 O0OO0OODOODO
gogoooooog
U obboooobobobooooouboobboooobboooboobbooooobobooog
gboooboooboobobooboon
0 gobobboboobooboobobooboooboobooboobobbooboon
gooobooboobooboobooobuoobobbobooboobon
U obbooooobobboooooboobobooooon
DDDDDDDDDDDE(675)D (681)DDDDDDDDDD

*

M up = ) d M pp 0 O chLD = ) d M ,rp (6.82),(6.83)
Hy H,

bM;LXD = % #dbMpLX gmo bM;RXD = % #dbMpRX (6.84),(6.85)
1—L; 1-7=

bM;LYD = % d ——M ,y 0 0 0 bMpRYD = % #dchpRY (6.86),(6.87)
YL, Ly

1
Mo = d, . d, . d, _d, _ d d, Mo (6.88)

1_ c + c

oH, " oH, "4L, 4L, 4Ly dLny
0000000000 000000000000000000000000000000000000
sfsislsis)sfslslstalsls

]

MLy M,

ged00I0D0ODDODOODO

-109 -



00045 DOOO0OO0OOODOOOUODOOOODOCOOODOODOOOUODObDODUODODOOOT
00+Y2000000000000000000000000000000000000000000
ob000d0de270045° DUODOODOODODOODOOOOODODODODOOOUODODOODODODOOO
gobooooboo e27000000O045° DOOUODDDUOUODDODOUODDOODDOUODDOO
62700000 n=n, 0000000 n<n, 0000000000000 O0O0OCOO0OOOCOO0OO
O000nr=n, 00000000 6%EIDDDDI]EIDDDDDDDDDDDDDDDCMPD/CMPDD
o00o0ooO0obOob0oOobo4ss OOOoUOO0O0obOO0bOOO0DOO0ODbDOobOOObDODbDOoObOODODbObOOO

6.50 0
ggooboobooooooobbooobooooooobooooonbobboooobbobboooog
ggoobooobooogooobboooooooboboooooooboobbooooooobbboooo
ggoobooobooooooobbooooooobbooobhbggoonbobboooooboobobobog
gooobooboobbooboobooboboboobobbobooboobobboboo
goobooboboboobooboobobooboobooboobobooboooboo
gooooboooboobooooboobooboooomoboobobbobooboobobobo
gogoobooboboooooboooboobooooooobbobbobooooobbboooobobobo
ggoboboooboboooobooboboooooboboboooobbbboobboooobobobo
goooboooob4se DOoobooboboooboooboobobooboobooboboboobooo
00000045 DO0O0OODOOOODODbOOOODOOb

-110 -



